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= 1 3, 676, 000
e L AN coEL
= 1 1, 164, 000
% T
= 1 181, 824
THHERK T
= 1 181, 824
AR 22X 1,524 X6, 096 7=
= 1 181, 824
(R
= 1 24, 985, 824
SRR 2
= 1 5, 580, 078
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N 2

EHL

I

LA fa R A BT H S 38 4 e SR A 1 i A 47 T

THXSy - THE - FEH - Hsl 7 3 LA % & A HLA & W (AE&M
Ll
Y 1 1,921, 304
R
Y 1 1,601, 679
THEKE Y AT Loy | TEKR VAT AR SHIRA
Ml 1 1,337,727 1,337,727
AR B S R B EREEEE 10knE T
Y 1 263, 952
BB B s (i L)
Y 1 319, 625
st (iR
Y 1 3, 658, 774
TR
Y 1 30, 565, 902
B A
Y 1 11, 239, 544
TR 5
Y 1 41, 805, 446
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